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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 233 14.8 2.8 25 59.3 100
2 233 13.5 3.1 25 53.8 100
3 233 12.4 3.8 25 49.6 100
4 233 14.7 3.7 25 58.7 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer Mark AO1 AO2 AO3 AO4 


1. (e)  0-3 marks:  Answers that make some attempt to discuss 
a care plan, with no reference to Jack's care needs.  
Answers convey meaning but lack detail.  Little or no use 
of specialist vocabulary. 
 
4-6 marks:  Answers that discuss Jack's care needs and 
how they can be met by a care plan.  Answers clearly 
convey meaning, with some use of specialist vocabulary. 
 
7-8 marks:  Answers that discuss in detail Jack's care 
needs and how they can be met by a care plan.  Answers 
are well-structured and clearly expressed.  Specialist 
terms used with ease and accuracy. 
 
Likely answers may include: 
 
Legislation:  care plans were introduced as a result of the 
NHS and Community Care Act (1990) which imposed a 
duty on local authorities to carry out a full assessment on 
adults over 18 who are eligible for, and require, services 
from the local authority.  Services provided should be 
individually tailored to meet those assessed needs.  The 
local authority must arrange for a named case manager to 
be responsible for the assessment and care planning.  
The care plan should be monitored at regular intervals 
and reviewed as appropriate. 
 
Assessment:  Jack's needs would be assessed using set 
eligibility criteria.  The assessment will take into account 
the views of Jack, his wife, Margaret, other family 
members and health and social care professionals.  
Jack's needs would be identified and are likely to include: 
 
• help with personal care 
• getting in and out of bed or chair 
• using the toilet 
• dressing 
• having a suitable diet 
• rehabilitation to improve function (mobility and speech) 
• social interaction 
• safety needs 
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Question Answer Mark AO1 AO2 AO3 AO4 


1. (e)  Implementation of a care plan:  services are planned 
and contracted out to a range of service providers.  
Services might include: 
 
• day centre 
• falls prevention 
• aids and adaptations 
• home care 
• respite care 
• intermediate care to provide rehabilitation 
• referral to voluntary group, e.g. Age UK 
• community transport 


 
Service provision should be linked to how they may meet 
Jack's care needs, e.g. provision of home care workers 
would help Jack maintain personal hygiene, get out of bed 
and get dressed. 
 
Monitoring:  the care plan will be closely monitored to 
identify how well the services provided meet Jack's needs 
and to identify any problems. 
 
Evaluation and review:  the care plan is evaluated at 
regular intervals and adjusted according to how well 
Jack's needs are being met. 
 
(Accept any other reasonable answer.) 


     


(Cont'd) 


   


 
 
















Sticky Note

2 marks awarded
The answer is vague and lacks detail. Though there are some relevant points regarding what might be included in a care plan, there is no discussion of Jack's specific needs or services that might meet such needs.
















Sticky Note

7 marks awarded
Care needs have been linked to PIES and appropriate examples given. There is clear discussion of the care management process. The response shows clear understanding, and inclusion of specific aids and/or adaptations or other services would have gained full marks.
















Sticky Note

4 marks awarded
The candidate's response gives a good overview of the care management system but does not discuss Jack's care needs.  To gain higher marks, the candidate should discuss the care needs in detail and how they may be met through home care, aids/adaptations, respite care, day centre, etc.
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Answer all questions in the spaces provided.


1. Jack is 80 years old and lives with his wife, Margaret, who is 75. Jack has recently been
discharged from hospital following a stroke. This has left him partially paralysed and with slurred
speech. Margaret is finding it difficult to care for Jack as he is very unsteady on his feet and has
had a number of falls.
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	 (e)	 Discuss Jack’s individual care needs and how they can be met by a care plan.	 [8]
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Question Answer Mark AO1 AO2 AO3 AO4 


3. (c)  0-3 marks:  Answers that make some attempt to discuss 
how James' condition might affect his quality of life in the 
future.  Answers convey meaning but lack detail.  Little or 
no use of specialist vocabulary. 
 
4-6 marks:  Answers that discuss in some detail how 
James' condition might affect his quality of life in the 
future.  Answers clearly communicate meaning, with some 
use of specialist vocabulary. 
 
7-8 marks:  Answers that discuss in detail how James' 
condition might affect his quality of life in the future.  
Answers are well-structured and clearly expressed.  
Specialist terms used with ease and accuracy. 
 
Likely answers may include: 
 
• James will need long-term medication and treatment to 


control his symptoms 


• he may have side-effects due to medication 


• he may be unable to continue his present job as a 
police officer when his symptoms worsen, which will 
result in a loss of income, self-esteem, etc 


• there may be financial implications due to loss of 
income 


• he may become depressed and frustrated as his 
condition deteriorates, which will have a negative effect 
on his quality of life 


• his condition could affect his relationship with his wife 
as she will eventually take on the role of carer 


• when his condition is advanced, James will find 
increasing difficulty in carrying out daily activities and 
his home may need to be adapted or he may need to 
move to more suitable accommodation 


• James and his wife will need to consider his long-term 
prognosis when considering whether to have children, 
which could lead to anxiety and stress for the couple 


• James is likely to experience high levels of pain the 
future which may lead to stress and depression 


• James may be unable to drive and could be isolated at 
home 


 
(Accept any other reasonable answer.) 


8 2 3 3  


 
















Sticky Note

4 marks awarded
The answer is very superficial and lacks depth and breadth, though it just nudges into the mid-mark band range. The most obvious effects have been described but there is little reference to how quality of life might be affected.
















Sticky Note

5 marks awarded
The response shows understanding of the condition and discusses in some detail how James might be affected, but there is a lack of analysis with regards to how James' quality of life might change.
















Sticky Note

6 marks awarded
The response is well-written and shows understanding of how James might be affected.  However, it lacks the detail required to award a mark in the highest band. To gain more marks, deeper analysis of the context is required to identify the possible long-term consequences of a progressive condition.
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3.	 James is a 32-year-old police officer who has recently been diagnosed with multiple sclerosis 
(MS). He lives with his wife, Elaine, in a small village which is 10 miles away from his place of 
work.
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	 (c)	 Discuss how James’s condition might affect his quality of life in the future. 	 [8]
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Question Answer Mark AO1 AO2 AO3 AO4 


4. (d)  0-2 marks:  Answers that make some attempt to discuss 
the range of communication aids Saheera could use to 
help her communicate effectively.  Answers convey 
meaning but lack detail.  Little or no use of specialist 
vocabulary. 
 


3-4 marks:  Answers that discuss in some detail the range 
of communication aids Saheera could use to help her 
communicate effectively.  Answers convey meaning, with 
some use of specialist vocabulary. 
 


5-6 marks:  Answers that discuss in detail the range of 
communication aids Saheera could use to help her 
communicate effectively.   Answers are well-structured 
and clearly expressed.  Specialist terms used with ease 
and accuracy. 
 


Allow a maximum of 4 marks if there is no discussion of 
effective communication. 
 
Likely answers may include: 
 
Hearing aids: 


• come in different shapes, sizes and types but all work 
in a similar way 


• have a built-in microphone that picks up sound which is 
processed electronically in the hearing aid 


• help an individual hear everyday sounds such as the 
telephone and make it much easier to follow 
conversations 


Hearing aids would help Saheera communicate more 
easily in everyday and social situations. 
 
Speech-to-text reporters (STTRs): 


• help individuals with hearing loss access audio 
information via a laptop or large screen 


• the reporter types a word-for-word account of what is 
being said and the information appears on screen in 
real time for users to read 


Saheera would be able to follow lectures using this 
system, enhancing her understanding. 
 
Induction loop systems: 


• help individuals who are deaf or hard of hearing pick up 
sounds more clearly by reducing background noise 


• work in a particular area when the individual's hearing 
aid is switched to the 'T' setting (or loop programme), 
allowing them to focus on sounds, such as a person 
speaking, from the loop system microphone, rather 
than the internal hearing aid microphone. 


This system would help Saheera communicate efficiently 
and confidently, even in noisy environments, and would 
make it easier for her in lectures. 


6 2 2 2  
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4. (d)  Text phones: 


• can be used to communicate if individuals are unable 
to hear on an amplified telephone 


• the individual can either type or speak their part of the 
call and receive text back that they can read on the text 
phone screen 


This would help Saheera use a phone more effectively. 
 
Visual message displays: 


• used on public transport, in public buildings, theatres 
and hospitals, in conjunction with public messaging 


• enable individuals with hearing difficulties get 
information by reading the message board 


This would help Saheera when travelling, using public 
buildings, etc. 
 
(Accept any other appropriate aid and description of how it 
is used to aid communication.) 


     


(Cont'd) 


 
















Sticky Note

2 marks awarded, 1 mark for correctly identifying a hearing aid and 1 mark for how it might aid communication.
Candidates should discuss a range of aids that might be suitable for Saheera. Sign language is not an aid but candidates might have included induction loop systems, speech to text reporters, visual message displays, etc. and discussed how they would aid communication for Saheera.
















Sticky Note

5 marks awarded
The candidate has correctly identified two aids and has clearly discussed how they work and aid communication. Discussion of an additional aid would have meant the response gained full marks.
















Sticky Note

3 marks awarded
The candidate has identified two appropriate communication aids but the response lacks detail with regard to how they might aid communication.  Sign language and the use of a support worker cannot be included as aids.












Turn over.


4.	 Saheera is an 18-year-old student who contracted meningitis in her first term at university. She 
has recovered well but has been left with severe hearing loss. 
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	 (d)	 There are many communication aids available for individuals with hearing impairments.


		  Discuss how Saheera could use a range of communication aids in order to help her 
communicate effectively.	 [6]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	











